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Problem quickname: 3339

L) Quick:

3339
Solve the linear equation system. Use the Gaussian Elimination algorithm.

) 10y + —72 = 28
Y80y + —65z = 170
10y + -7z = 28 (1)
80y + —65z = 170 (2) |—|—(—8)X(1)
10y + =72 = 28 (1)
-9z = =54 (2)
Determine variable values:
(2) =>220=06

(1) = 10x1 + (—42) =28= 102 =70 =21 =7
Solution: y = 7,2 =6

b Ty 4+ 2z = 0
) 56y + —20: — 28
oo+ 22 = 0 (1)
56y + —202 — 28 (2) |+8x(1)
Ty + 2z = 0 (1)
4z = 28 (2)

Determine variable values:

(2) = 29 = =7
)=Tn+(-14)=0=>Ty=14=12,=2

Solution: y = 2,z = —7

27> Quick:
3339
Solve the linear equation system.
49 + -8z = =8
) iy — 40
Triangular form:
494 + -8z = -8 (1)
-8z = 32 (2
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Determine variable values:

(2) = 290 = —4
(1) = 4x1 +32=(—8) = 41 = —40 = 21 = —10

Solution: y = —10, 2 = —4

b) v + -9z = =29
—32y + 17z = 257
Triangular form:
v + -9z = =29 (1)
bz = 25 (2
Determine variable values:
(2) =29 =5
(1) = 4x1 + (—45) = (=29) = 421 =16 = 21 =4
Solution: y = 4,2 =5
37) Quick:
Solve the linear equation system.
—Tx1 +  9x9 + —10x3 + Txy = 123
) —Tx1 + —x9 + —2x3 + T4 = 73
Yo98ry + 24w + 213 + —llzy = —170
—28x1 + —44x9 + bdxs + 30xy = 146

Determine variable values:
(4) = x4 =38
(3) = 63 +40 =22 = 6r3 = —-18 = 3 = —3
(2) = (—10)z2 + (—24) + (—16) = (=50) = (—10)z2 = —10 = x5 = 1
(1) = (—7)901 +9+4+30+56 =123 = (—7)I1 =28=x1=-4

Solution: x1 = —4,x9 = 1,23 = —3,14 = 8
—5r1 + —3x9 +  4dxs3 + 24 = —42
b) 1521 + bxo + —1723 + 104 = 139
20c1 + BH2x9 + 3lxzg + —40xy = 51
2001 + 20x9 + —2lz3 + —48x4 = —383

Determine variable values:

(4) = 24 =10

(3) = (—3)x3 + (—80) = (—89) = (—3)z3 = —9 = 23 = 3

(2) = (—4)xe+ (—15)+40 =13 = (—4)zo = —-12 = 29 =3

(1) = (=5)x1 + (=9) + 12 4+ (—20) = (— 42):>(—5)x1:—25:>x1:5

Solution: 1 = 95,29 = 3,23 = 3,14 = 10
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4

Solve the linear equation system.

621 + —920 + —6x3 + —dxry = BT

5ryg + 4dxg3  + 624 = —10

42, + T3xp + 56w3 + 4dbry = —371

—24x1 + 16z + 44xs + —206x4 = 127
Triangular form:

6x1 + —9x9 + —6x3 + —dHxy = H7T (1)

bre + 4dxz3 + 6y = —10 (2)

6rs + —2x4 = 48 (3)

—9ry = 27 (4)

Determine variable values:
(4) = x4 = -3
(3) =>6x3+6=48= 623 =42 =23 =17
(2) = dxo + 28 + (—18) = (—10) = br9g = —20 = 29 = —4
(1) $6x1—|—36—|—(—42)—|—15:57:>61:1:48$:L’1 =8

Solution: 1 = 8,19 = —4,x3 =7,04 = —3
371 + —8xy2 + 43 + —bSxry = 3
b —3r1 + 162 + —23 4+ 94 = -39
) ola b —Slug + ldmy = 295
—6x1 + —16x9 + —30z3 + 32x4 = 482

Triangular form:

3r1 + —8xy + 4wz + —dSrzy = 3 (1)
8ry 4+ 3x3 + 4wy —-36 (2)
—2r3 + Tzy = 64 (3)
3ry = 24 (4

Determine variable values:
(4) = x4 =28
(3) = (—2)x3+56 =64 = (—2)xg3 =8 = 13 = —4
(2) = 8x2 + (—12) + 32 = (—36) = 8r9 = —H6 = 19 = —7
(1) $3x1—|—56—|—(—16)—|—(—40) =3=3r1=3=x1=1

Solution: x1 = 1,29 = =7, 23 = —4,14 = 8

Good Luck!
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